NA st

Ek=rrd



AL

S

O

IZFETILDONA IHEE (D)

=T )LHEIR

—_RAXT705—(BF)

BFEplEZXKSD

Sel%

N=SBp

JEBES

SESO

oFxoff

LI - =

ET )LD A THERE

— R2jags



LR ET I

« BV TILEN (=1, -+, n). SREAZEDEK
« HWERBART Y. sRBAZ R, . KRR/ NS X—
> B k> s lH £ i
 :RZEI8 € .(FF1I0. DELO2DIER DI
D =8I ARAD

Y; = /30 +Xi1/3)1 + Xi2ﬁ2 +"'+Xik/5k T &,

e, ~N(0,0°)




IAEIY

1 X,

1 X,,

=




IRZLRETILDNA XHETE
. ’f?ﬁ/ﬂ)ﬂa':?)l/(at KIS A—=H B EFE

cDOLVC

TSN ma5Z2dI &I

&DA%Z%ET%%

3 ARFIR SR

J\W\J/

Ipaxis

[

\(XTX)_1 X7 y,(1/r)(XTX)'1)



RCOIRETILDONRA HEE

o HIGEFIDHEDBINOAXA—IEEAT D

CICEDERTD &S (CEBLT S
p(BlT.y)~ N(bo,(1/r] BO)

p(r] y)~r(vzo,v0280)

C HBICS X —Hby, By, Vo, SoldIEY [CEE
U CHRBIRBZE LY




IACIV

EFI)LDONRA i

F3

» BINSX=YZLUTDOXIICESTTRAD

b, =(X"X) X'y

B,=(X"X)



RIZEIRETILDNA XHEE
s LTFDELSBBRDHBNMEOND
p(BlT.y)~N(b,B)

p(r | y) ~ F(V1 ,V1S1)

b,=B,(B,'b, +tX"y), B = B)' + X" X,

vV, =V, +N, v.S =v.S, +(y—Xb1)T(y—Xb1)



RIZEIRETIILDONA IHEE

« BDEIS

814:5)

VI T DD ICHEDS

p(BlT.y)~t(b,6°S,v,)
E(/}\r,y)=b1

V(/ﬂr,y)= S




> print(swiss.jags, digits=3)
Inference for Bugs model at "/Library/Frameworks/R.framework/Versions/3.0/
Resources/library/R2jags/model/modell.txt", fit using jags,
3 chains, each with 10000 iterations (first 1000 discarded), n.thin = 9
n.sims = 3000 iterations saved
mu.vect sd.vect 2.5% 25% 50% 75% 97.5% Rhat n.eff

betad 67.105 13.990 45.178 59.293 67.151 74.183 89.391 1.003 1400
betal -0.172 0.111 -0.312 -0.220 -0.171 -0.122 -0.026 1.129 1900
beta? -0.264 ©0.354 -0.766 -0.434 -0.258 -0.090 0.257 1.094 3000
beta3 -0.870 0.190 -1.227 -0.992 -0.873 -0.747 -0.505 1.001 3000
beta4 0.104 0.039 0.035 0.080 0.104 0.128 ©0.176 1.009 3000
beta5 1.071 ©0.402 0.298 0.812 1.068 1.339 1.858 1.001 2100
tau 0.020 0.004 0.012 0©0.016 0.019 0.022 0.029 1.009 1200
deviance 319.807 7.890 313.920 316.642 318.926 321.825 329.118 1.023 1400

For each parameter, n.eff is a crude measure of effective sample size,
and Rhat is the potential scale reduction factor (at convergence, Rhat=1).

DIC info (using the rule, pD = var(deviance)/2)
pD = 31.1 and DIC = 350.9
DIC is an estimate of expected predictive error (lower deviance is better).



> gelman.diag(as.mcmc(swiss. jags))
Potential scale reduction factors:

Point est. Upper C.I.

betad 1.003 1.01
betal 1.004 1.02
beta?2 1.000 1.00
beta3 1.002 1.01
beta4 0.999 1.00
beta5 1.002 1.01
deviance 1.004 1.01
tau 1.000 1.00

Multivariate psrf

1.01



> geweke.

[[11]

Fraction
Fraction

beta®
1.0412

[[2]1]

Fraction
Fraction

beta@
-0.59821

[[31]

Fraction
Fraction

betad
0.4123

diag(as.mcmc(swiss. jags))

in 1st window = 0.1
1n 2nd window = 0.5
betal beta?l beta3
-0.6132 -0.2245 -1.2326
in 1st window = 0.1
in 2nd window = 0.5
betal beta?l beta3

beta4
-1.7890

beta4

1.39084 -1.31319 1.67479 -1.04701

1n 1st window = 0.1

in 2nd window = 0.5
betal beta?2 beta3
-0.7620 -0.06936 0.7890

beta4
1.1846

beta5 deviance tau
-0.7599 1.1214 -1.2407
beta5 deviance tau

@.74338 1.25556 -0.07713

tau
-1.9717

beta5 deviance
0.9047 1.3075



> raftery.diag(as.mcmc(swiss. jags))

L[1]]

Quantile (q) = 0.025
Accuracy (r) = +/- 0.005
Probability (s) = 0.95

You need a sample size of at least 3746 with these values of g, r and s
[[2]1]

Quantile (q) = 0.025

Accuracy (r) = +/- 0.005

Probability (s) = 0.95

You need a sample size of at least 3746 with these values of g, r and s
[[31]

Quantile (q) = 0.025

Accuracy (r) = +/- 0.005

Probability (s) = 0.95

You need a sample size of at least 3746 with these values of g, r and s
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BF & pfE

c HOEHT ICFUWLWSBaIEXRZSEZ 121556,
. plE
Bl
MRE | 505 001 0.001
ti 196 258  3.29
BF 015  0.04  0.004
min(Ho[x)| 12.8%  3.5%  0.4%
. plE
Bl
ARRE | 505 001 0.001
e 164 233  3.09
BF 026  0.07  0.008
min(Ho|x)| 20.5%  6.3%  0.8%

Edwards et al. (1963)



PBICEK DB 12MR#

AS\;%Good man (2008)

Seminars in

b HEMATOLOGY

e
¥ 5

ELSEVIER

A Dirty Dozen: Twelve P-Value Misconceptions

Steven Goodman

Table 1 Twelve P-Value Misconceptions

If P = .05, the null hypothesis has only a 5% chance of being true.

A nonsignificant difference (eg, P =.05) means there is no difference between groups.

A statistically significant finding is clinically important.

Studies with P values on opposite sides of .05 are conflicting.

Studies with the same P value provide the same evidence against the null hypothesis.

P = .05 means that we have observed data that would occur only 5% of the time under the null hypothesis.

P = .05 and P =.05 mean the same thing.

P values are properly written as inequalities (eg, “P <.02" when P = .015)

P = .05 means that if you reject the null hypothesis, the probability of a type | error is only 5%.

With a P = .05 threshold for significance, the chance of a type | error will be 5%.

You should use a one-sided P value when you don't care about a result in one direction, or a difference in
that direction is impossible.

A scientific conclusion or treatment policy should be based on whether or not the P value is significant.
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